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PRESSURE LOSS

Heating capacity [kW] for the respective temperature differences AT [K]. (AT = the temperature difference between flow and return.
Example: flow @ 80 °C and return @ 60°C => therefore AT = 20 K)

Pressure Loss

Heating Capacity [kW] at a given AT [K] PE-Xa pipe SDR 11/ PN6: dgyt X s [mm]
drop

15 K 20K 25 K 30K 40 K [[/sec] Flow 25x 32x 40 x 50 x B3 x 75 x 90 x 10 x 125 x
Velomtg 23 29 3.7 4,6 58 6,8 8,2 10,0 1.4
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10 20 30 40 S0 60 80 048 [[ri%?c]] 11(,]25 ;18‘; 01,151.7 03,):?7 033
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23 45 68 90 M3 135 180 1,07 e e L 3
25 50 75 100 125 150 200 1,19 e 1 11 1
22 55 83 M0 138 165 220 1,31 o vEREE ||
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3 65 9% 130 163 195 260 155 iy 206 165 a8 | om| o5
3 70 105 140 175 210 280 1,67 e e
38 75 13 150 188 225 300 1,79 e o .
4 80 120 160 200 240 320 1,91 e 335 e om  ofs o
43 8 128 170 213 255 340 2,03 e o 1o N o o
45 90 135 180 225 270 360 215 oy a0 | 102 ves lom | oS
50 100 150 200 250 300 400 239 286 1s3 a4 Los oso
56 113 169 225 281 338 450 2,69 e 1 1 1
63 125 188 250 313 375 500 2,99 e 57 I
69 138 206 275 344 413 550 3,28 e I I e
75 150 225 300 375 450 600 3,58 oA N | I
81 163 244 325 406 488 650 3,88 e I e
88 175 263 350 438 525 700 4,18 e N | B

94 188 281 375 469 563 750 4,48 e I AR aAr



PRESSURE LOSS

Pressure Loss

Heating Capacity [kW] at a given AT [K] W PE-Xa pipe SDR 11/ PNG6: dgyt X s [mm]
drop

5K 20K 25K 30K 40K [Usec] Flow 25x  32x  40x  50x  B3x  75x  90x  10x  125x
velocity 23 29 37 48 58 68 82 10 14
100 200 300 400 500 600 800 478 (e 2 a8l a2 o’ o
106 213 319 425 531 638 850 5,08 ol AR AL
13 225 338 450 563 675 900 537 [ 25 62 |426l08s oo
19 238 356 475 594 713 950 567 (e 572 1% 1m  om 06
125 250 375 500 625 750 1000 5,97 e LY | B
131 263 394 525 656 788 1050 6,27 e 1 1 |
138 275 43 550 688 825 100 6,57 e el | |
144 288 431 575 719 863 1150 6,87 e 1 1 1
150 300 450 600 750 900 1200 747 e vl | |
156 313 469 625 781 938 1250 7,46 e 1 1 1
163 325 488 650 813 975 1300 7,76 e . | |
169 338 506 675 844 1013 1350 8,06 ol SR N
75 350 525 700 875 1050 1400 8,36 e > e
181 363 544 725 906 1088 1450 8,66 (o) 1 1 1|
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200 400 600 800 1000 1200 1600 9,55 e s |
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225 450 675 900 1125 1350 1800 10,75 e el |
238 475 713 950 1188 1425 1900 M,34 (o 35 a1
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313 625 938 1250 1563 1875 2500 14,93 (T |
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338 675 1013 1350 1688 2025 2700 16,12 e -
350 700 1050 1400 1750 2100 2800 1672 e o
363 725 1088 1450 1813 2175 2900 17,32 (oo L
375 750 1125 1500 1875 2250 3000 17,91 e 5
388 775 1163 1550 1938 2325 3100 18,51 e
400 800 1200 1600 2000 2400 3200 19,11 e
43 825 1238 1650 2063 2475 3300 1970 (o

425 850 1275 1700 2125 2550 3400 20,30 (e



